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Note: All questions are compulsory

Q. 1(a) Write Short Notes on:
1) Cost Centre
i) Perpetual inventory system
iii) Stock Control through ABC analysis
iv) Internal Rate of Return
(Marks: 2.5*4=10)
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(b) The following information in respect of production of automatic components has been
obtained from the cost records of ABC Ltd. for a specific period:

Sales (in units) 10,000
Variable cost per unit Rs. 100
Fixed cost Rs.6,00,000
Loss Rs.1,00,000

On the basis of this information, you are required to determine individually.

1) Increased sales volume required to get the company reimbursed for an extra cost of
Rs.10 per unit for the use of new more effective forged part in the production of the
component to increase in the sales at the existing sale price to enable the business to
break even.

i)  The increased sales volume required to earn a profit of Rs. 1,00,000/- with a
reduction of 10% in the sale price with a view to counter growing completion.

iii)  The increased sales volume without a change in sale price per unit to meet an
additional expense of Rs. 50,000/~ for more intensive publicity while earning a

profit of Rs. 1,00,000/-.
(Marks: 4+3+3=10)
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Q.2
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mm@ém'&ﬂfi’wﬁm%@ﬁﬁmméz@ajﬁélv
@méagmgué@qﬁgﬁﬁﬁaéwﬁeﬁéqﬁm'mméﬁ
mwa.émmmmmémﬁawmmmw%
Reseh o 3 ek 2 oy 9 T & e O e o Lgrge B

’ ' Vs f&g 10%
U 1,00,000/- & I3 IHEE BE B @0t Iet feadt & 3T feadt o

& 329 @ '8 U It Hygedr € HarEET 396 BE| s
50,000/~ gug 2 T7 ¥g8 § U 596 S8t Y3t yfse feadt HE &9 a=a™

=t I feadt & 13T 100,000/ R T HeT AHER I8 TS Freg yoI B |
(89T: 4+3+3-10)

A person owns a bus which runs between Delhi to Chandigarh and back, for 10 days }11”
a month. The distance from Delhi to Chandigarh is 150 miles. The bus completes the
trip from Delhi to Chandigarh and back in the same day. The bus goes another' IQ days
in a month towards Agra. The distance from Delhi to Agra is 120 miles. The trip is also
completed in the same day. For the rest 4 days of its operation in a month it runs in the
local city. Daily distance covered in local city is 40 miles.

Calculate the rate the person should charge from passenger when he wants to earn the

profit of 33%% on his takings. The other information are given below:

Rs.
Cost of the Bus 60,000
Depreciation 20% p.a.
Salary of Driver 350 per month
Salary of Conductor 350 per month
Salary to Part-time Accountant 160 per month
Insurance 1,680 per annum
Diesel Consumption 4 miles per litre costing 1.00 per litre
Token Tax 600 per annum
Lubricant oil 10 per 100 miles
Repairs and Maintenance 500 per month
Permit Fee 284 per month
Normal Capacity 50 persons

The bus is generally occupied 90% of the capacity when it goes to Chandigarh and 80%
when it goes to Agra. It is always full when it runs within the city. Passenger tax is 20%
of his net takings.

(Marks: 10)
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(b)  Difference between Budget and Forecast. (Marks: 10)
(M) = W3 YT weHs 9 wiEal (&=: 10)
Q.3
(a) Following information has been obtained from the records of a Manufacturing
Company:
01.01.2006 31.12.2006
Rs. Rs.
Stock of Raw Materials 40,000 50,000
Stock of Finished Goods 1,00,000 1,50,000
Stock of Work-in-Progress 10,000 14,000
Transactions during the Year:
Rs. Rs.
Indirect Labour 50,000 Carriage outward 20,000
Lubricants 10,000 Power 30,000
Insurance on Plant 3,000 Direct Labour 3,00,000
Purchase of Raw Materials 4,00,000  Depreciation on Machinery 50,000
Sale Commission 60,000 Factory Rent 60,000
Salaries of Salesmen 1,00,000 Property Tax on Factory building 1 1,000
Administration Expenses  1,00,000  Sales 12,00,000



rePare o § . . vinl Consumed,(b) Prime
Prepare g Statement of Cost and Profit showing: () Cost of Raw Material € Ullhllllll,\t I,( |)iun
L ' ST roduction,

COst(0) Total P\-1nnu|uclurmg Cost, (d) Factory Manulacturing Cost, (¢) Cost ol Proc

(D) Costof Goods Sold, (g) Cost of Sales and (h) Prolit.

(Marks:7)
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(b) S.V Construction Ltd. have obtained a contract for the construction of a bridge. The value

of the contract is Rs. 12 lacs and the work commenced on 1 October, 2005. The following
details are shown in their books for the year ended 30 September, 2006: -

Plant purchased Rs. 60,000,
Wages paid Rs. 3,40,000:
Material issued to site Rs. 3,36.000;
Site expenses Rs. 8,000;
General overheads apportioned Rs. 32,000;
Wages accrued as on 30.09.2006 Rs. 2,800;
Material at site as on 30.09.2006 Rs. 4,000
Direct expenses accrued as on 30.09.2006 Rs. 1200;
Work not yet certified at cost Rs. 14,000;
Cash received being 80% of work certified Rs. 6,00.000;
Life of plant purchased is 5 years

Scrap value is 0 (Nil)



(1) Prepare the contract account for the year ended 30 September, 2006; (2) Show the amount
of profit which you consider might be fairly taken on the contract and how you have calculated
it.

(Marks: 8)
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(c) Explain Angle of Incidence. (Marks: 5)
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Q.4 A company expects to have Rs. 37,500 cash in hand on 1April, 2007 and requires you
to prepare an estimate of cash position during the three months, April to June, 2007. The
following information is supplied to you:

Factory Oftice Selling

Sales Purchases ~ Wages Expenses Expenses  Expenses

Rs. Rs. Rs. Rs. Rs. Rs.
Feb 75,000 45,000 9,000 7,500 6,000 4,500
Mar 84,000 48,000 9,750 8,250 6,000 4,500
Apr 90,000 52,500 10,500 9,000 6,000 5,250
May 120,000 60,000 13,500 11,250 6,000 6,570
June  1,35000 60,000  14.250 14,000 7,000 7,000

Other Informations:



_tJ

- Period of credit allowed by suppliers -

2 months. G - APy
[lowed to customers for credit sales is ope

20% of sales is for cash and period of credit a
month,
Delay in payment of all expenses- 1 month.

4. Income Tax of Rs. 57.500 is due to be paid on June 15, 2007.

6.

Y4

ers of Rs. 15,000
The company is to pay dividends to sharcholders and bonus t0 worke

and Rs. 22,500 respectively in the month ()f'Apri!.
Plant has been ordered and is expected to be received
1.20.000.

and paid in May. it will cost Rs.

(Marks: 20)
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Q.5
(a) A firm whose cost of capital is 10% is considering two mutually exclusive projects X

and Y, the details of which are:

Project X Project Y
Rs. Rs.



Investment 70,000 70,000

Cash Now year | 10,000 50,000
Cash Now yenr 7 20,000 A0.000)
Conh flow year 10.000) 20,000
Cnah Now year 4 45,000 10,000
Cushi How year 5 60,000 10,000
1,65,000 1,30,000

Compute the

I Net present value at 10% profitably index.
2. Internal rate of retarn,

for the two projects,

Discount Factors

Year  10% 5%, 2% 25% 0% EA
| 909 870 %33 800 769 741 714
2 826 756 694 640) 592 559 510
3 751 658 579 512 455 406 364
4 083 572 482 410 350 301 260
5 621 497 402 328 269 220 186
(Marks: 15)
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(b) Define Budget Manual. (Marks: =5)
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PUNJAB STATE TRANSMISSION CORPORATION LTD.

Departmental Accounts Examination- 2024 (2" Session)

Category - SAS-II Paper- VIII Works & Management Accounting

Sol 1(a)

(i) Cost Centre;-

A cost centre is the smallest segment of activity or area or responsibility
for which costs are accumulated. Typically cost centres are departments but in some instances,

a department may contain several cost centres, These cost centres are the departments or sub-
departments of an organization with reference to which costis collected for cost ascertainment
and cost control. For example, although an assembly department may be supervised by one
foreman, it may contain several assembly lines. Sometimes each assembly line is regarded as a
Seéparate cost centre with its own assistant foreman. A cost centre can be a location i.e. an area

such as department, storeyard or sales area or an item of equipment e.g. lathe machine, delivery
vehicle or a person e.g salesman, foreman.

The determination of a suitable cost entre is very important for ascertainment and
control of cost. The manager incharge of a cost centre is held responsible for control of cost of

his cost centre. It enables the accumulation of all such costs at one place for which a common
base of recovery may be used.

(ii)l’_ﬂm_emaumsxm The Perpetual Inventory System may be defined as "3

system of records maintained by the controlling department, which reflects the physical

movements of stocks and their current balance.” Bin cards and the stores ledger help the
management in maintaining this system as they make a record of the physical movements of the
stock on the receipts and issues of the materials and also reflect the balance in the stores. Thus,

itis a system of ascertaining balance after every receipt and issue of materials through stock

records to facilitate regular checking and to avoid closing down the firm for stocktaking. To

ensure the accuracy of perpetual inventory records (ie bin card and stores ledger), physical

verification of the stores is made by a programme of continuous stocktaking. It is possible that

the balance of stock shown by bin cards or stores leager may differ from the actual balance
stock as ascertained by physical verification. It may be due the avoidable and unavoidable
causes such as clerical mistakes, pilferage and thefts, carelessness in material handling

shrinkage and evaporation.

mmmmmmmm Manufacturing organizations find it usefu! to
divide materials into three categories for the purpose of exercising selective control on
materials. An analysis of the material costs will show that a smaller percentage of items of

materials in the stores may contribute to a large percentage of the value of consumption and on
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) of the value of
the other hand, a large percentage of items may represent a smaller percentage

items consumed. Between these two extremes will fall those items the percentage number of
which is more or less equal to their value of consumption. Items falling in the first category are
treated as "A" items, of the second category as "B" items and items of the third category are
taken as "C" items. Such an analysis of material is known as ABC analysis. This technique of
stock control is also known as stock control according to value method or Always Better Control
method. Thus, under this technique of material control, materials are listed in "A", "B" and "C"
categories in descending order based on money value of consumption.

The significance of this analysis is that a very close control is exercised over the Items of "A"
group which account for a high percentage of costs while less stringent control is adequate for

category "B" and very little control would suffice for category "C" items.

(iv)Internal Rate of Return: The internal rate of return for an investment proposal is

the discount rate that equates the present value of initial cost of the investment with the present

value of the expected net cash flows.

The value of r (internal rate of return) can be calculated either by means of computer or by the

manual method and the value so obtained is compared with a required rate of return, known
also as the cut off rate. If the internal rate of return is more than the required rate of retu rn, the
project is accepted, if not, it should be rejected.

Generally the required rate of return is the concern’s cost of capital and the cost of capital is the

rate of return on a project that will leave unchanged the market price of shares. Thus, cost of

capital is the required rate of return needed to justify the use of capital.
If there are number of alternative proposals, the internal rates of all alternatives should be
compared and the alternative which gives the maximum internal rate

most profitable one,

should be selected as the

Marks: 2.5%4 = 10
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. Category — SAS-1I Paper- VIII Works & Management Accounting

1(b) Sales= Variable cost for 10,000 units + Fixed Cost - Loss
=Rs. 100*10,000+Rs. 6,00,000 - Rs. 1,00,000 = Rs. 15,00,000

PerUnit | Total (Rs.)

Sales 150 15,00,000
Less: Variable Cost 100 10,00,000
Contribution 50 5,00,000
Less: Fixed Cost 60 6,00,000
| Loss 10 100,000

a)  Contribution per unit = Rs. 50-Rs. 10 = Rs. 40
Break- even point = Rs.6,00,000/Rs. 40
=15,000 units
OR

=15,000*150 = Rs. 22,50,000

b) Reduced Contribution per unit with 10% reduction in price
=Rs. 50- 10% of Rs. 150
=Rs. 50- Rs. 15 =Rs. 35

Sales volume to earn profit of Rs. 1,00,000
= F.C. + Profit/ Contribution per unit
=Rs.6,00,000 + Rs. 1,00,000/Rs. 35
= 20,000 units
OR
=20,000*135 = Rs. 27,00,000
c) Contribution per unit = Rs. 50

Sales volume = Required Profit+ F.C. + Additional Expenses
Contribution per unit
=Rs. 1,00,000 + Rs. 6,00,000 +Rs. 50,000
Rs. 50
=Rs.7,50,000 =15,000 units
Rs. 50

Or
=15,000*Rs. 150 = Rs. 22,50,000

Marks: 4+3+3 = 10



PUNJARSTATE TRANSMISSION CORPORATION L TD,

|

3 Departmental Accounts Exnmination- 2024 (2" Session)

} Category - SANL Paper- VI Warks & Munngement Accounting
|

Sol. 2 (1)
Particulars P'er Month R, I,
Fixed Chavpes:
Depreciation ( Rs 60,000 20/100* 1/1.0) 1,000
Salary ot Drven 150
Salary of Conducton 10
Salary of part-time Accountant 160
Insurance Ry Todo /12 110
Token Tax Rs o00/12 o0
Repatrs & Matenance 500
Permit Fee 2t 2844
Variable Expenses:
Diesel (5,500 miles * Re 1/ dmiles) 1,390
Lubricant Oil (Rs. 10/ 100 miles * 5,500 miles ) H50 1,946
Cost 1,780
Profit 33V of net takings or 50% on cost 2,390
Total net takings 7,170
Add: 209% Passenper Tax 1434
1,601
Total Passenger Miles 2,39,000
Delhi to Chandigarh Passenger Miles
10*300*50*90/100 [,35,000
Delhi to Agra
1O* 2405080/ 100 96,000
Local
441050 4,000
2,39,000
Rate per Passenger Mile = Rs. 8,004 / 2,39,000 3.6 paisa
Charge tor Chandigarh per passenger 3.0 paisa* 150 miles = Rs, 5,40
Charge for Agra per passenger 3.6 paisa* 120 miles = Rs. 4,32
Working Note;
Total miles in a month Miles
Chandigarh (10*150*2) 3,000
Apra (10*120*2) 2,400
Local (4*40) 160

D'"u-ru‘h‘(f miles Marks: 10
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Qi) 3
! . Iy in a specified
Budget and forecast both refer to the anticipated actmn:ﬁ and e;/enFS in a specifie
future period but still there are wide differences between the two as given below:

Sr. No. Budget Forecast

1 Itrelates to planned events i.c. the policy | It is concerned with probab{e eve(?ts
and programme to be followed in a future | likely to happen under agmupau. -
period under planned conditions. conditions during a specified period o

time.

2 Itis usually planned separately for each It may cover a long period or years. J
accounting period.

3 | Itcomprises the whole business unit. It may cover a limited function or activity
Sectional budgets are coordinated intoa | of business as sales forecast.
logical whole.

4 Budget is a tool of control as it represents | It does not connote any sense of control
actions which can be shaped according to | as forecast is merely a statement of future
will to suit conditions which may or may | events,

not happen.

5 The process of budget starts where The function of forecast ends with the
forecast ends and converts it into a forecast of likely events.
budget.

6 Itis made in respect of those spheres Itis made in several other spheres which
which are related to business or ind ustry. | may not be connected with the budgeting

process

Marks: 10



Sol. 3(a)

PUNJAB STATE TRANSMISSION CORPORATION LTD.
Departmental Accounts Examination- 2024 (2" Session)

Category — SAS-1I Paper- V11

Statement of Cost & Profit
for the year ended 31.12.2006

Works & Management Accounting

Particulars

[ Rs. Rs.
Opening stock of Raw Materials 40,000
Add:  Purchase of Raw Materials 4.00,000
4,40,000
Less:  Closing stock of Raw Materials 50,000
(a) Cost of Raw Materials Consumed ] 390,000
Direct Labour 3,00,000 |
(b) Prime Cost ~6,90,000
Factory Overheads:
Indirect Labour 50,000
Lubricants 10,000
Insurance on Plant 3,000
Power 30,000
Depreciation on Machinery 50,000
Factory Rent 60,000
Property Tax on Factory Building 11,000 2,14,000
c) Total Manufacturing Cost 9,04,000
Add:  Opening Work-in-progress 10,000
9,14,000
Less:  Closing Work-in-progress 14,000
d) Factory (Manufacturing) Cost 9,00,000
Administration Expenses 1,00,000
¢€) Cost of Production 10,00,000
Add:  Opening Stock of Finished Goods 1,00,000
Less:  Closing Stock of Finished Goods | 150,000
f) Cost of Goods Sold 9,50,000
Selling overheads
Sales Commission 60,000
Salaries of Salesman 1,00,000
Carriage Outward 20,000 1,80,000
g) Cost of Sales 11,30,000
h) Profit 70,000
Sales 12,00,000

Marks: 7
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3.(b
D) CONTRACT ACCOUNT Cr.
Dr. Rs. Amount
iculars
Particulars Rs. AR“;‘;“M Partic (Rs.)
(Rs. =
To Materials 3,36,000 | By Workin Progress: 7,50,000
To Wapes 340,000 Certified Work U, o —
A?id- chirued 2800 | 342800 | Uncertified Work 14,000 | 7, e
To Slite Expenses 8,000 | By Materials atsite 481000
Add: Accrued 1,200 9,200 | By plantat Site ]
To General Overhead 32,000
Apportioned
To Plant 60,000
To Notional Profit ¢/d 36,000 _
8,16,000 Ffi,ﬂl_ﬁ@_o
To Profit & Loss A/c || By Notional Profit b/d 36,000
(Rs. 36,000 *2/3*80/100) 19,200
To Work In Progress 16,800
A/c (Reserve)
36,000 36,000
Marks: 8
3.(c)

Angle of Incidence:  This is the angle formed at the breake
cuts the total cost line. This angle indicates rate

incidence is

production.

Alarge angle of incidence with
abusiness and even the

A

a high margin of safety indicates the
existence of monopoly conditions.

at which profits are be
an indication that profits are being made at a high rate.
angle indicates a low rate of profitand suggests that v

ven point at which the sales line
ing made. Large angle of
On the other hand, a small
ariable costs from the major part of cost of

most favourable position of

Marks: 5
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Sol. 4
CASH BUDGET
Particulars 2007 April | 2007 May | 2007 june
Rs. Rs. Rs.
Opening Balance (Cash in hand) 37,500 11,700 (91,050)
Receipts from:
Cash Sales (20% of current month's sales) 18,000 24,000 27,000
Debtors (80% of previous month's sales) 67,200 72,000 96,000
Total of Receipts (A) 1,22,700 1,07,000 31,950
Payments:
Creditors (2 months' previous purchases) 45,000 48,000 52,500
Wages (previous month's wages) 97,750 10,500 13,500
Factory Expenses (Previous month's expenses) 8,250 9,000 11,250
Office Expenses (Previous month's expenses) 6,000 6,000 6,000
Selling Expenses (Previous month's expenses) 4,500 5,250 6,570
Dividend to Shareholders 15,000 - -
Bonus to Workers 22,500 -
Purchase of Plant 1,20,000 -
Income Tax - 57,500
Total of Payments (B) 1,11,000 1,98,750 1,47,320
Closing Balance (Receipts-Payments] or (A-B) 11,700 (91,050) | (1,15,370)

The Company will need overdraft facilities in May and June to the extent of Rs. 91,050 and Rs.

1,15,370 respectively.

Marks: 20
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sol. 5(a)

(i) Calculation of Net Present Value
(Cost of Capital being 10%)

Cash Inflows Discounted Cash Inflows
Year Project X Project Y P.V. Factors at Project X Project Y
10%
1 10,000 50,000 0.909 9,090 45,450
Z 20,000 40,000 0.826 16,520 33,040
3 30,000 20,000 0.751 22,530 15,020
4 45,000 10,000 0.683 30,735 6,830
5 60,000 10,000 0.621 37,260 6,210
Present Value of cash inflow 1,16,135 1,06,550
Less: Initial cash outflow (Investment) - 70,000 7770799_94_
Net Present Value 46,135 36,550

Calculation of NPV at 10% Profitability Index

Profitability Index = Discounted Cash Inflows/ Discounted Cash Outflows
Project X= Rs. 1,16,135/ Rs. 70,000 = 1.659

Project Y=Rs. 1,00,550/ Rs. 70,000= 1.522

(ii) Internal Rate of Return for the two Projects

Project X

Year CashInflows

1 10,000
2 20,000
3 30,000
4 45,000
5 60,000

Present Value @ 30% is Rs. 65,070. Cost of Project X is Rs. 70,000, so NPV @ 30% is negative.
Hence internal return must be lower than 30%.

P.V. Factors

at25%

0.800
0.640
0512
0.410
0328

Inflows

8,000
12,800
15,360
18,450
19,680
74,290

Discounted Cash  P.V. Factors

at30%

0.592
0.455
0.350
0.269

discount, NPV of Rs. 74,290 is more than the cost of project.

IRR:

But it is higher than 25%

Discounted

Cash Inflows

11,840
13,650
15,750
16,140

because at the rate of

25% + 74,290-70,000/ 74,290- 65,070 *5=27.33%




1 LTD.
PUNJAB STATE TRANSMISSION (:()Rl'()lﬁ% F l‘."Nn)
Departmental Accounts Examination- 2024 (2" Sessio

| scountin |
| Category — SAS-I Paper- VIII Works & Management Accot g |
Project Y i —
Year Cashinflows P.V.Factors Discounted Cash P.V.Factors Dlscou;ll G‘EN )
at 35% Inflows at 40% Cash Inflo
———
1 50,000 0.741 37,050 0714 35,700
2 40,000 0.559 22,360 0510 20,400
3 20,000 0.406 8,120 0.364 7,280
4 10,000 0.301 3,010 0.260 2,600
5 10,000 0220 2200 0186 1,860
72,740 67,840 |
IRR: 35% + 72,740-70,000/ 72,740- 67,840 *5=37.79%
(Marks: 15)
5(b) Budget Manual: A budget manual is a set of rules and instructions used by large

organizations to prepare their budgets and related reports. As organizations become larger and
more complex, it is no longer possible for just one person to prepare a hudget.
Large and complex organizations rely on such a manual to coordinate budgeting activities across
several actors. Budget manuals are developed and updated through a budget committee that
oversees standards and practices within the organization's financial units.

(Marks: 5)
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